
Problem	
  27.27	
  
According	
  to	
  the	
  text,	
  the	
  temperature	
  dependence	
  of	
  resis;vity,	
  as	
  applied	
  to	
  
aluminum,	
  is	
  

1.)	
  

ρAl = ρo( )Al 1+ αAl T− To( )⎡⎣ ⎤⎦
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  (room	
  temperature)	
  and	
  	
  	
  	
  	
  	
  	
  	
  	
  is	
  
aluminum’s	
  temperature	
  coefficient	
  of	
  resistance.	
  	
  

ρo  is the resistivity at temperature To αAl

If  ρAl  = 3 ρo( )Cu ,we can write :

ρAl  = ρo( )Al 1+ αAl T− To( )⎡⎣ ⎤⎦= 3 ρo( )Cu

   ⇒     T−     To    =            1
αAl
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   ⇒     T− 20o C( ) = 1

3.9x10−3 o C( )−1( )
3 1.7x10−8  ΩΩ•m( )
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   ⇒     T = 227o C

Again,	
  obscure!	
  


